== A
N = 0] &8 AF S & AN A
20148 = 20 A LB H = oI &0 1t
M Lol &0H el It
M B2)|® LeME XY
R 2K AHA X (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
L Ol &HOH o1 1} 372,381,574 274,685,459 97,696,115
= 285,980,504
J| 979,500
= 35,080,760
&< 50,340,810
gl M8 X3 281,068,351 192,450,986 88,617,365
= 238,964,410
J| 979,500
= 18,039,057
= 23,085,384
CSEE2X AHA XS 280,295,350 184,037,595 96,257,755
= 238,872,871
J| 979,500
= 18,039,057
o 22,403,922
LOIEMeI=EXNER =& 21,000 21,000 0
201 et 18,000 18,000 0
01 AF 22| H| 18,000 18,000 0
OgerA A= 2| 18,000
203 € R F&d| 3,000 3,000 0
03 AIEH =X 2 F X Y| 3,000 3,000 0
OLQIEHUARFA 3,000
ARG 29H| XK (0]Y) 535,680 532,035 3,645
308 MXISHHMSOIA 535,680 532,035 3,645
01 HXHHIMNEEXTZ 535,680 532,035 3,645
OZ2Y 29| XK (0Y) 535,680
22Y Hed(¥=2d Z&) X 4,439,055 2,413,907 2,025,148
= 3,860,048
= 579,007
308 XX SHHSOIH 4,439,055 2,413,907 2,025,148
= 3,860,048
o= 579,007
01 AIXSHMENMNEX= 4,439,055 2,413,907 2,025,148
OZ2Y Wutety| (24| )X & 4,439,055
= 3,860,048
= 579,007
A2Y AR KM 29 281,250 281,000 250
= 140,625
& 140,625
307 2iz2to| A 281,250 281,000 250
= 140,625
& 140,625
10 Ml S X EX 281,250 281,000 250
OdZ2E ZAXJNEH 29 281,250




- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 140,625
= 140,625
A2Y =3 T 2o 1 66,631 0 66,631
308 XHXIEHSOIA 66,631 0 66,631
01 AIKSHHEMNEX= 66,631 0 66,631
OZ2E =3 Tz ) 22|00 1H 66,631
9988 #H=LI=0| 1,255,780 468,225 787,555
307 QI2t0| & 48,000 0 48,000
10 Al SR EX 48,000 0 48,000
Qogsdi =Lt S0t 48,000
308 AMXIESHMSOIA 1,207,780 468,225 739,555
01 AIXSHMEMNEXZ 1,207,780 468,225 739,555
09988 2 LI s 0| A 1,207,780
LolsEES AHlA 6,901,044 4,907,799 1,993,245
= 6,009,030
&< 892,014
308 XX EH SO0l A 6,901,044 4,907,799 1,993,245
= 6,009,030
&< 892,014
01 AIKSHHEMNEX= 6,901,044 4,907,799 1,993,245
Ooross8lIsAMdlA 2,799,760
= 2,480,800
o= 318,960
OSI|IFAFA HI A 85,472
= 75,730
& 9,742
OkossZzs AUl A(HIRA) 3,896,394
= 3,452,500
= 443,894
OokolssJiEaAMd A X& 119,418
LOlMEAlAE & 17,880,467 16,818,864 1,061,603
= 17,880,467
308 AXIEHMSOIA 17,880,467 16,818,864 1,061,603
= 17,880,467
01 AIXSHMENMNEX= 17,880,467 16,818,864 1,061,603
OLOUZALE 29 964,479
=2 964,479
OLoRRAAIAL K& 16,915,988
= 16,915,988
MIOt=QRIAHIA XIS (0]Y) 3,227,820 2,489,078 738,742
308 XX SHHSOIH 3,227,820 2,489,078 738,742
01 X HHINMNEEXTZ 3,227,820 2,489,078 738,742




M Lol &0H el It
M B2)|® LeME XY
R 2K AHA X (e H)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OMItElHHIADI 2 XIS (0]1Y) 3,227,820
SEHEESZIHNMEZ0AAEY &Y 372,600 210,000 162,600
J| 310,500
= 62,100
308 MXISHMSOIA 273,600 210,000 63,600
J| 228,000
= 45,600
01 IXHHINMNEEXTZ 273,600 210,000 63,600
OsAHLos3oEsE0l AlAE 29 273,600
J| 228,000
& 45,600
403 XX SHHS K20 & 99,000 0 99,000
J| 82,500
== 16,500
01 XIS A2 X 99,000 0 99,000
OSAHoSZdE20l AIAE 2= 99,000
J| 82,500
o= 16,500
AALAL 2234 AFY XK (0]) 1,116,940 883,314 233,626
308 ANXICSHHMSOIA 1,116,940 883,314 233,626
01 IXHHIMNEXZ 1,116,940 883,314 233,626
OTBZALL2ZZAAA(01Y) 611,889
OMASETHII= QA A S AFS (0 ) 505,051
SHEC-LsE=EN2 29 A 602,090 528,634 73,456
= 158,590
& 443 500
307 2iz2tol A 602,090 528,634 73,456
= 158,590
& 443 500
05 QIZ2tE 2 602,090 528,634 73,456
OssdsZass=E2xa 2N 602,090
= 158,590
o 443 500
et olsg sE=2dHEs 2N 149,000 113,000 36,000
307 QI2t0| ™ 149,000 113,000 36,000
10 Al S X2 X 149,000 113,000 36,000
OUstol3 s=dHEs 29 XA 149,000
LOoIsX0l2 A HPAE 5,500 5,500 0
307 2I2t0| ™ 5,500 5,500 0
10 MM S XEX 5,500 5,500 0
OLo=BXINE SAMX 2R AR 5,500
COIATIZI KR (EME ) 19,800 19,200 600
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A el Zoel
M B2)|® LeME XY
Selr L2=X MHIA X EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| < 7,700
ColdXtel X2 (XA ) 600,000 600,000 0
308 XX EHHSOIA 600,000 600,000 0
01 HIXNHHBNEES 600,000 600,000 0
Okolgdxiel 2 (XHA) 600,000
LOESHEEI 2 2Y 575,042 530,870 44,172
= 287,521
< 287,521
307 21201 A 575,042 530,870 44,172
= 287,521
< 287,521
10 AFRISXIE X 575,042 530,870 44,172
OkoEs dE2J& 23 575,042
= 287,521
S 287,521
stifmioficol & &H 168,126 153,040 15,086
= 84,063
< 84,063
307 21201 A 168,126 153,040 15,086
= 84,063
< 84,063
10 A2l S X2 X 168,126 153,040 15,086
Ostthulof -2l dEHHXNA 168,126
= 84,063
< 84,063
XA gdH 29 ((01Y) 26,780 26,780 0
308 XXIEHHSOIA 26,780 26,780 0
01 IXNHHNBNEES 26,780 26,780 0
OXfagHE 2L (01) 26,780
XOHXIZ2eld (YHyl) XA 869,700 475,123 394,577
J| 669,000
< 200,700
308 XX EHHSOIA 869,700 475,123 394,577
J| 669,000
< 200,700
01 AXHHILEES 869,700 475,123 394,577
OXINxz2eldl (ZHyl) X& 869,700
J| 669,000
< 200,700
XOHER SsHE XA 126,096 232,502 A~ 106,406
308 MXIEHMSOIH 126,096 232,502 A 106,406
01 HXNHHBHEELS 126,096 232,502 A 106,406
OXIoHex =ssHeE X 126,096




2N
X ZH -
L= B

el

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
XOHE3S AN X2 20,000 0 20,000
307 glz2tol & 20,000 0 20,000
10 AtSI =X 2 X 20,000 0 20,000
OXIOH - 53 LANLEX A 20,000
ZAXN M2 BSHANILH 2 600,000 100,000 500,000
= 420,000
< 180,000
307 21201 A 600,000 100,000 500,000
= 420,000
< 180,000
02 B AEXS 600,000 0 600,000
O=E=L ZI9X0HHdEH 2 X2 600,000
= 420,000
= 180,000
COoOSAESIE(0IY) 30,240 30,240 0
308 XXl EHH SOl A 30,240 30,240 0
01 AXSGHBLELS 30,240 30,240 0
OLQISAIZ# S & (01) 30,240
QLUES A LA 18,603 15,100 3,503
101 14 Hl 14,923 13,000 1,928
04 JIZHHZ2XREES 14,923 13,000 1,928
OgR Bx0=E oAy 13,946
O=28, 18 40 BEE= 977
201 €82l 1,680 1,100 580
01 At 22l 1,680 1,100 580
OQRYESAMIREF=E Z I 1,680
202 o4dl 2,000 1,000 1,000
01 = LH o4 1l 2,000 1,000 1,000
ORLBSALRFE Ml 2,000
=gz 225,931,234 143,012,441 82,918,793
= 215,233,704
< 10,697,530
308 XXX SOIA 225,931,234 143,012,441 82,918,793
= 215,233,704
< 10,697,530
01 AXNHHBANEES 225,931,234 143,012,441 82,918,793
OJlz=kg8d= 225,931,234
= 215,233,704
< 10,697,530
S8 dsYHEAY 15,000 15,000 0
308 XXX SO0 A 15,000 15,000 0




AN el 04t

M B2)|® LeME XY
t¢elr 25X Mbla X& (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 AXHHILEES 15,000 15,000 0
O==2stds2 ALY 15,000
tet=olsl AIZXel AR= 2SN 60,871 0 60,871
308 XtXIEHHSOIA 60,871 0 60,871
01 AXHHILEES 60,871 0 60,871
Ot sl AlZXE AIR= 2EXE 60,871
LO=ETANE 2= 773,001 8,413,391 AT,640,390
= 91,539
< 681,462
LASXNAE JIs2EZ 119,001 776,391 A 657,390
= 91,539
< 27,462
403 XSS X201 & 119,001 776,391 A 657,390
= 91,539
< 27,462
01 X ESHHMA=E L 119,001 776,391 A 657,390
OLe=EXAE JIs2Z 119,001
= 91,539
< 27,462
LOININAIE JIs2EE 544,000 740,000 A 196,000
403 MtXSHHSA=0l& 544,000 740,000 A 196,000
01 XM A2E X 544,000 740,000 A 196,000
OLQOIIANIE JIsEY 544,000
CURIANE JIsSEH 65,000 0 65,000
403 UtXISHE X201 & 65,000 0 65,000
01 X SHHX2E = 65,000 0 65,000
OLURAANE Js2Z 65,000
ANLOEY JIseE2 45,000 0 45,000
403 A X EHHS =0l A 45,000 0 45,000
01 X EHHMA=LE L 45,000 0 45,000
OALIEY s 45,000
ZoHe =SS 91,260,954 82,182,204 9,078,750
= 47,016,094
&2 17,041,703
< 27,203,157
ZOoHel AolE At 75,490,469 68,425,968 7,064,501
= 44,090,530
=2 15,918,479
< 15,481,460
O ELds XA 477,088 477,088 0
=2 197,943
< 279,145

|
~
|




AN el 04t
PN

M HOe =2XNE5E
Sl Tojol HoF B CERED
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 477,088 477,088 0
& 197,943
= 279,145
10 A3l =X 2 X 477,088 477,088 0
OXNFEFO TUHHABME 23 101,505
=2 30,452
< 71,053
OXofel HaXddH 249 101,505
& 30,452
< 71,053
OE2AE £ZX ANUFAEH 24 45,214
= 22,607
< 22,607
OXMEOHAHIAALE XNAHEH 29 102,656
& 51,328
< 51,328
OZOML SE28AY 126,208
= 63,104
< 63,104
oM &3t X (XA ) 313,500 395,500 A 82,000
307 21201 A 306,000 388,000 A 82,000
10 AFRISXIEX 306,000 388,000 A 82,000
OHZTHA0ISMHEIAXA 18,000
OUsod d3tAlyY 2 &Y 28,000
OMILEHQ &8 & XNZ A 25,000
OZMESEaHL2S 30,000
OZoHzdoe H 454 23 30,000
O=3nazd 17,000
OFMA=REE AL 80,000
OWLZM Asln=sdH 299 25,000
OZOAAY IS A 30,000
OAr el =3 ZAHU3 3,000
OE8X &Y A 5,000
OHlelgsZEA 10,000
Os0t e IS A 5,000
308 XXM SOIA 7,500 7,500 0
01 AXHHBISEES 7,500 7,500 0
O=sZM FES4AY 7,500
ZONQIEA AFRA F| 23,520 0 23,520
402 RIZ2tXt20l ™ 23,520 0 23,520
01 IZEAI 22X 23,520 0 23,520
OFOMHAEH AHRA HH] 23,520
ZOHAEXRT 2 Atddl2tel XNJHH X2 200,000 400,000 200,000




SH: ol E Ol Dt
HE: ZOjY SNEH

0
r
J

ol FOHOl MOE EA CEEEED
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2

= 100,000
= 100,000

307 gizto| A 200,000 400,000 A 200,000
= 100,000
& 100,000

10 Al SR EX 200,000 400,000 A 200,000
OFMABEI| P At 22l XNSHE 29 200,000
= 100,000
= 100,000

ool MEEXI|IR XA 68,150 72,850 AN4,700
= 58,000
o= 10, 150

308 XX SHHSOIH 68,150 72,850 AN4,700
= 58,000
=} 10,150

01 AIXSHMENEXZ 68,150 72,850 A4,700
OHMAMESE XD 68,150
= 58,000
& 10,150

Hofelol 2 HI X & 777,850 1,359,475 A B81,625
= 662,000
o=t 115,850

308 XHXIEHSOIA 777,850 1,359,475 A B81,625
= 662,000
& 115,850

01 AIKSHHEMNEXZ 777,850 1,359,475 A 581,625
OOl 2| X & 777,850
= 662,000
o= 115,850

2ol Xt H & "l K& 42,300 56,311 A 14,011
= 36,000
=} 6,300

308 MXISHHMSOIA 42,300 56,311 A 14,011
= 36,000
& 6,300

01 IXHHIMNEXS 42,300 56,311 A 14,011
OO XS & 42,300
= 36,000
& 6,300

MU0 oIRGB 2 =X (0]) 10,500 7,000 3,500

308 XX SHHSOIH 10,500 7,000 3,500

1 AXNSHHENEXZ 10,500 7,000 3,500
OXUZOQ 2SI 2 == XS (0]) 10,500

ES249HF ANEASA A9 15,000 15,000 0




2N
X ZH -
L= B
el

= O FO0H el
XOHol 2XEZA
IO Ol 4Ol E BEAH

0
r
J

0;
r
B
L
I
0
0;

(o
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
308 XXt S0 A 15,000 15,000 0
01 IXNHHBNEES 15,000 15,000 0
Os==dita Mg €X129 15,000
AEZOHR MELAHEA 2 15,000 15,000 0
307 21201 A 15,000 15,000 0
10 A3l =S X2 = 15,000 15,000 0
OMZTZOHL THELAEY 29 15,000
ool sHUEZ XJAHS 30,000 0 30,000
307 21201 A 30,000 0 30,000
10 A2l S X2 X 30,000 0 30,000
OFoel SHUEL XA 30,000
SAOIZ0HR HBMWEI|I 2 AIH2H 70,000 70,000 0
308 XXM SO0 A 70,000 70,000 0
01 HXNHHBMNEES 70,000 70,000 0
OHQIZHe B2 A2 70,000
Foi=g(0l=x) 2,854,800 2,686,320 168,480
= 2,196,000
< 658,800
308 AXIEtH S0l A 2,854,800 2,686,320 168,480
= 2,196,000
< 658,800
01 IXNSHHBMNEES 2,854,800 2,686,320 168,480
OFM=+==(II=x) 2,854,800
= 2,196,000
< 658,800
S (XARS) 2,988,700 3,211,000 A 222,300
= 2,299,000
< 689,700
308 X XIEHHSOIA 2,988,700 3,211,000 A 222,300
= 2,299,000
= 689,700
01 HXNHHNBHELS 2,988,700 3,211,000 A 222,300
OFM=+==(H&AS) 2,988,700
= 2,299,000
< 689,700
ez 22,493,317 16,604,391 5,888,926
= 19,930,787
< 2,562,530
308 XXM SO0 A 22,493,317 16,604,391 5,888,926
= 19,930,787
< 2,562,530
01 HIXNHHBNEES 22,493,317 16,604,391 5,888,926




o

135,660

= _ — d =
CHB - E(BH) - MM - B 0l &t o il Bl RE2
Oz 22,493,317
= 19,930,787
< 2,562,530
KNHEFOHIHOAA I XNBHEH 2F(01) 99,000 69,300 29,700
308 XX EHHSOIA 99,000 69,300 29,700
01 X HHILEES 99,000 69,300 29,700
OXHMZEHAHEHAAIL I=XNJEH 2 99,000
FAE0e EHEAH =359 XNE 2,000 2,000 0
201 Let249y| 2,000 2,000 0
01 At 22/l 2,000 2,000 0
oM THFNH =359 N& 2,000
FAF NsSXHEXN 22 24,000 0 24,000
201 L4l 24,000 0 24,000
01 At 2t 2l 24,000 0 24,000
OFELEM NSXHEXN L= 24,000
ZOHQ OlS=EXNMEIAAY XA 135,000 135,000 0
307 21201 A 135,000 135,000 0
10 A3l S X2 = 135,000 135,000 0
O&Oel OlssSXMEIAAY X2 135,000
el SSEAICHHl XI& 34,202 21,012 13,190
= 20,119
< 14,083
308 XX EHH SOl A 34,202 21,012 13,190
= 20,119
< 14,083
01 HXNHHBHELS 34,202 21,012 13,190
OZe SES8ANE 2 34,202
= 20,119
< 14,083
ATl SMHIERE A 26,070 90,580 A64,510
= 23,100
< 2,970
308 XX EHHSOIA 26,070 90,580 A64,510
= 23,100
< 2,970
01 HIXNHHNBNEES 26,070 90,580 A64,510
OW&HMe =4&HE K& 26,070
= 23,100
= 2,970
SHE Z0HQ FEOHEZALY 329,460 387,600 A 58,140
193,800




SH: ol E Ol Dt
HE: ZOjY SNEH

ol FOHOI MOIE B (S5 &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
403 MtXISHHE =01 & 329,460 387,600 A 58,140
= 193,800
< 135,660
01 XS M A=2EE 329,460 387,600 A 58,140
Os0HE ZOHQ =& JHEALS 329,460
= 193,800
< 135,660
SSTMHARE MR JAAS 261,000 174,000 87,000
= 180,000
= 81,000
308 XtXIEHH SOl A 261,000 174,000 87,000
= 180,000
< 81,000
01 AXHHILEES 261,000 174,000 87,000
OZSZSZMH NEHMEXJAY 261,000
= 180,000
< 81,000
O ZOHQI JFALERX0IAE XI2 (01 2) 137,520 112,000 25,520
308 A EHHSOIA 137,520 112,000 25,520
01 HXNHHNBMNEELS 137,520 112,000 25,520
OWSEZOHC JFAFE 0] At X2 (01 ) 137,520
SSHMHL TSHMEBHAH 29 175,000 175,000 0
308 XXM SO0l A 175,000 175,000 0
01 IXNHHBNEES 175,000 175,000 0
OSSO HSMEMEH 29 K& 175,000
ol nsH XA 38,560 38,560 0
308 XXIEHHSOIA 38,560 38,560 0
01 AXHHIYEES 38,560 38,560 0
O&ofel wsdl XI& 38,560
ZOHROIEXNRAEH 29 122,000 122,000 0
308 XX EHH SOl A 122,000 122,000 0
01 HXNHHNBHELS 122,000 122,000 0
OZOMLIIEXNRHEH 2 100,000
OMEHMAINSXNALMYH 29 22,000
=S5 ZH SdEEHEX ALY 301,293 299,751 1,542
307 21201 A 13,500 13,500 0
05 RIZt2IE = 13,500 13,500 0
Oz =SS ZMHUEIRH AE==E 13,500
308 A EHHSOIA 287,793 286,251 1,542
01 HXNHMBHELS 287,793 286,251 1,542




2N
X ZH -
L= B

el

SA - BB - B9 (31H) - KIS AY Ol &t o San HmEET

Ozlsg&easEx 170,083
OzssZMEsEx 17,367
OFoel 22318 XA 16,621
OFMHAEBSEZAIHA 83,722

AMZEOMIONE AKX S eI X 10,000 10,000 0

308 A EHHSOIA 10,000 10,000 0

01 HIXNHHBHEELES 10,000 10,000 0
OAMZLEOQIIE IIAXSS XD XA 10,000

LEMEAEA TR 2,420,786 2,325,247 95,539
= 2,145,000
< 275,786

308 XX EHHSOIA 2,420,786 2,325,247 95,539
= 2,145,000
< 275,786

01 IXNSHHBNEES 2,420,786 2,325,247 95,539
Oggmaul A X 2,420,786
= 2,145,000
< 275,786

ZOHOIE LS RA 444,706 289, 100 155,606
= 311,294
< 133,412

307 21201 A 444,706 289, 100 155,606
= 311,294
< 133,412

10 A2l =S X2 X 444,706 289,100 155,606
OZOor JIEL =X 444,706
= 311,294
< 133,412

ALY HIRH ALS 78,097 104,054 AN 25,957
= 69,200
< 8,897

308 AHAIEHHSOIA 78,097 104,054 AN 25,957
= 69,200
< 8,897

01 AXNSHBLEES 78,097 104,054 N 25,957
OdLe 2 X& 78,097
= 69,200
< 8,897

LY 22YcladE X2 91,766 0 91,766
= 81,312
< 10,454

308 XXM SOl A 91,766 0 91,766
81,312

SRl

10,454




2N

M HOe =2XNE5E
el Mool MOE B CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 AXHHILEES 91,766 0 91,766
OLETMHURR delad X 91,766
2 81,312
< 10,454
LN SEFAAXRAAY 51,772 0 51,772
= 48,160
< 3,612
308 XtXIEHHSOIA 51,772 0 51,772
= 48,160
= 3,612
01 HXNHHBHELS 51,772 0 51,772
OddE=szaA2 Mula X 34,572
= 32,160
= 2,412
OXEZ2A ABEIHE X 17,200
= 16,000
< 1,200
O ESIEHE 14,806,971 12,051,428 2,755,543
= 13,638,000
< 1,168,971
308 XtXIEHHSOIA 14,806,971 12,051,428 2,755,543
= 13,638,000
< 1,168,971
01 X HHILEES 14,806,971 12,051,428 2,755,543
OFEskd M= 14,806,971
= 13,638,000
< 1,168,971
ZOUAA=AIE JIsEH 2,521,997 4,386,132 A 1,864,135
= 1,939,998
< 581,999
403 MHXSHHSA=0l& 2,521,997 4,386,132 A 1,864,135
= 1,939,998
< 581,999
01 XM A=E L 2,521,997 4,386,132 A 1,864,135
OZMRANFAL JIsEL 2,521,997
= 1,939,998
< 581,999
ZOHANFAIE 29 21,575,472 21,811,469 A 235,997
& 15,720,536
< 5,854,936
308 XXM SO0l A 21,575,472 21,811,469 A 235,997
& 15,720,536
< 5,854,936
01 AXHHBILEES 21,575,472 21,811,469 A 235,997
OHMANFAIE 29 21,575,472
=2 15,720,536




AN el 04t
PN

Hu: mojel =2XEZ
ol FOHOI MOIE B (S5 &)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| = 5,854,936
ZOH=ASE 2L(01Y) 1,072,477 0 1,072,477
308 XX EHHSOIA 1,072,477 0 1,072,477
01 HIXNHHBNEES 1,072,477 0 1,072,477
OFe ZSMEIE 22 (012) 798,227
QXL SHIAFAIE 2Z(01) 274,250
Hel2A ZOHAHFAIE K& 69,600 0 69,600
308 A EHHSOIA 69,600 0 69,600
01 HXNHHNBHEES 69,600 0 69,600
OMel2d ZelA=AE X 69,600
ZOHAH=AIA &K NEEEHS X 31,500 0 31,500
308 XX EHHSOIA 31,500 0 31,500
01 HIXNHHBNEES 31,500 0 31,500
OFMAANF=AILE EAX NEFEAS XA 31,500
ZOHAANFAIE BAHE 2otMEH S XA 22,313 0 22,313
308 X XIEHHSOIA 22,313 0 22,313
01 X HHBISEES 22,313 0 22,313
OFMAANFAIE BAYE 2HEH S X 22,313
TOHANFAIE MEQ THAEE W= 10,000 10,000 0
201 Let24d] 10,000 10,000 0
03 A2 S HI 10,000 10,000 0
OZOMANFAIE HEQ TNEHUEWS 10,000
O H=AIE A2 0182 XA 179,172 202,208 A 23,036
= 158,760
< 20,412
308 X EHSOIA 179,172 202,208 A 23,036
= 158,760
< 20,412
01 HXNHHNBMNEELS 179,172 202,208 A 23,036
OFMAANFAIE AHILAx 0182 XA 179,172
= 158,760
< 20,412
ZOHAUHNFAIE AEHEZAL 4,000 0 4,000
307 glz2tol & 4,000 0 4,000
10 A3l =X 2 X 4,000 0 4,000
OHMAANFAIE 1A AEIXZA 4,000
ABISTAIE BItAAI=E 5,010 19,830 214,820
201 Let2d] 4,050 16,830 A 12,780
01 AP 2teltl 4,050 16,830 A 12,780
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SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
O(ZHOHRAZISXIAIE HOLAA = 4,050
202 odl 960 3,000 A 2,040
01 = LH o4 1l 960 3,000 A 2,040
O(ZOHQ AR SXRIAIE EHIOLA A 960
ZOU=RNAE &= B3 30,000 0 30,000
403 XXM S X201 30,000 0 30,000
01 AXSHMA2E = 30,000 0 30,000
OFHUMLI=XALE &5 B2 30,000
ZoHel MasXAbls Zst 15,770,485 13,756,236 2,014,249
= 2,925,564
& 1,123,224
< 11,721,697
ZOfQ MAZ HIHAYE 29 XA 148,125 144,250 3,875
= 59,250
< 88,875
307 glz2+ol & 148,125 144,250 3,875
= 59,250
< 88,875
10 M3 SXEX 148,125 144,250 3,875
OFOMC MAZTHIHAIE 2 XN 148,125
= 59,250
= 88,875
Zopel SXLRelAy X2 1,010,080 909,523 100,557
= 776,985
< 233,095
308 XXX SOIA 1,010,080 909,523 100,557
= 776,985
< 233,095
01 AXNHHMBANEES 1,010,080 909, 523 100,557
ZOHQ =R LRl At X & 1,010,080
= 776,985
< 233,095
Zofol HEE0 XA 2,158,021 1,437,540 720,481
= 1,660,016
< 498,005
308 XXX S0 A 2,158,021 1,437,540 720,481
= 1,660,016
< 498,005
01 AXSHBLEES 2,158,021 1,437,540 720,481
OFOO HBE 20| XIS AS 2,158,021
= 1,660,016
< 498,005
A ZHEOH QI OFOFAF THA A 122,946 0 122,946
= 114,368
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[ 8,578
308 MXISHHMSOIA 122,946 0 122,946
= 114,368
& 8,578
01 IXHHIMNEXTZ 122,946 0 122,946
OAZEEOHQI OHOFAF TFA A 122,946
= 114,368
& 8,578
ZOHQUZATHEANE JsEZ 409,429 451,117 N41,688
= 314,945
o= 94,484
403 AIXSHHE X201 N 409,429 451,117 N41,688
= 314,945
= 94,484
01 XS A2E X 409,429 451,117 N41,688
OFMAMAMEAAE JIsEZ 409,429
= 314,945
& 94,484
SOHQILZUHEAHFINXNIANMEHSH 215,560 177,840 37,720
308 XX EHSOIA 215,560 177,840 37,720
01 AIKISHMEMNEX= 215,560 177,840 37,720
OHMNALAHENHFI| NYHMH 29 215,560
SO AUSNNES S ALY 40,000 36,000 4,000
308 XAHXIGH SO0l & 40,000 36,000 4,000
01 AIKISHHENEXZ 40,000 36,000 4,000
OFOQ HLUSE SSAY 40,000
O XIGASITHEANE 29 1,427,180 1,468,240 A 41,060
= 867,930
= 559,250
307 QI2t0| ™ 1,427,180 1,468,240 A 41,060
= 867,930
= 559,250
05 QIZtREZ 1,427,180 1,468,240 A 41,060
OEFHEEL Hj=gEXs 29 1,235,210
= 741,126
& 494 084
OBHEC JHASH=N2 22 29 75,750
= 45,450
o 30,300
OMII=2XNSAMLE=2H 116,220
= 81,354
& 34,866
ool (=25e) Mss 29 850,980 798,170 52,810
= 255,294
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< 595,686
307 21201 A 850,980 798,170 52,810
& 255,294
< 595,686
05 RIZt2IE = 850,980 798,170 52,810
QFML(B=F2l) M2 29 850,980
=2 255,294
< 595,686
ZOHOIAATHEANE 29 XA 1,648,981 1,395,322 253,659
308 XX EHHSOIA 1,648,981 1,395,322 253,659
01 HXNHHBHELS 1,648,981 1,395,322 253,659
OXMMANITHEANLE 22 XA (01Y) 1,648,981
ZONQX A HEAIE 2 (X AHAN) 7,243,397 6,190,734 1,052,663
308 AHAIEHHSOIA 7,243,397 6,190,734 1,052,663
01 HIXNHHNBMNELS 7,243,397 6,190,734 1,052,663
OAZEMA=EX2 2 (01) 4,357,255
OFME MEEHMH 2Z(01Y) 879,425
OFUESAE 2Y(01Y) 851,640
OXFOTHEE 22 (01) 264,240
O=3stsduEH 2L (01Y) 588,110
OZOHQ IS SAtHE 2F(01) 302,727
N2 249 93,980 0 93,980
308 XXIEHHSOIA 93,980 0 93,980
01 AXHHIYEES 93,980 0 93,980
OEXEZN2 24 93,980
ZOHIXRIGAISITHEAE JsE22 280,500 694,500 A 414,000
403 A X EHHS 20l A 280,500 694,500 A 414,000
01 X EHHMA=LE L 280,500 694,500 A 414,000
OZOHS XLAMSITHEAE JIsE2Z(01Y) 280,500
SEETZMHUSH=EXNZ A8 & 22,060 0 22,060
307 gl2tol & 22,060 0 22,060
02 RIZHENEXS 22,060 0 22,060
OFHF=SZZMHAUSE =R AIE2S HHAC 22,060
Zoo(BFe)MES AIEE M AT 36,246 0 36,246
307 glz2+ol & 36,246 0 36,246
02 QI AEXS 36,246 0 36,246
QX (BFeNHs2 A8 ™A 36,246
Zopel J1sZIIUsl 13,000 13,000 0
307 21201 A 13,000 13,000 0
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
10 A3l S X2 = 13,000 13,000 0
OZoiel JsZIItHal N = 13,000
O MAZE T EH3AY 40,000 40,000 0
307 21201 A 40,000 40,000 0
10 AFRISXIE X 40,000 40,000 0
OOl MAS SO 2d3tAY 40,000
ZOHQAUIHE AIEMA 10,000 0 10,000
403 UHXSHHSA=0l& 10,000 0 10,000
01 XM A= LE L 10,000 0 10,000
OZOMAZAE ALIHNA 10,000
#Y2HIH (ol Foelt) 52,269 52,269 0
Jl= &l 52,269 52,269 0
JlE&l 52,269 52,269 0
201 £B-2dH| 16,359 16,359 0
01 At 22l 16,359 16,359 0
OJlE=+=&Hl 6,878
OJle sl 9,481
202 04l 35,910 35,910 0
01 = LH 4 HI 35,910 35,910 0
OJlEutl 35,910




